# Ivan Chajda; Gerhard Dorfer; Helmut Länger Local versions of some congruence properties in single algebras

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 43 (2004), No. 1, 65--73

Persistent URL: http://dml.cz/dmlcz/132942

## Terms of use:

© Palacký University Olomouc, Faculty of Science, 2004

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

# Local Versions of some Congruence Properties in Single Algebras<sup>\*</sup>

IVAN CHAJDA<sup>1</sup>, GERHARD DORFER<sup>2</sup>, HELMUT LÄNGER<sup>3</sup>

<sup>1</sup>Department of Algebra and Geometry, Faculty of Science, Palacký University, Tomkova 40, 779 00 Olomouc, Czech Republic e-mail: chajda@risc.upol.cz <sup>2,3</sup>Institute of Algebra and Computational Mathematics Vienna University of Technology Wiedner Hauptstr. 8-10/118, A-1040 Vienna, Austria e-mail: g.dorfer@tuwien.ac.at h.laenger@tuwien.ac.at

(Received November 20, 2003)

#### Abstract

We investigate some local versions of congruence permutability, regularity, uniformity and modularity. The results are applied to several examples including implication algebras, orthomodular lattices and relative pseudocomplemented lattices.

**Key words:** Congruence permutability, congruence regularity, congruence uniformity, congruence modularity.

2000 Mathematics Subject Classification: 08A30, 08B05

Congruence permutability, regularity, uniformity and modularity are well studied concepts in universal algebra. For the convenience of the reader we refer to [4]. We introduce and study some local versions of these notions.

In the following let  $\mathcal{A} = (A, F)$  be an arbitrary but fixed algebra and a, b arbitrary but fixed elements of A.

<sup>&</sup>lt;sup>\*</sup>Research of all three authors supported by ÖAD, Cooperation between Austria and Czech Republic in Science and Technology, grant number 2003/1; the second author acknowledges support by the Austrian science fund FWF under grant number S 8312.

**Definition 1** For every positive integer n and every  $i \in \{1, \ldots, n\}$  let  $C_{ni}$  denote the set of all n-ary functions on A which are compatible with all congruences on A with respect to the *i*-th variable, i.e.  $C_{ni}$  consists of all functions  $f: A^n \to A$  satisfying the following condition: If  $a_1, \ldots, a_n, \bar{a}_i \in A, \theta \in \text{Con}(\mathcal{A})$  and  $a_i \theta \bar{a}_i$  then

$$f(a_1,\ldots,a_i,\ldots,a_n)\theta f(a_1,\ldots,\bar{a}_i,\ldots,a_n).$$

Moreover, put  $C_n := C_{n1} \cap \ldots \cap C_{nn}$  the set of all compatible *n*-ary functions on  $\mathcal{A}$  for all positive integers *n*.

**Definition 2**  $\mathcal{A}$  is called (a, b)-permutable if for all  $\theta, \phi \in \text{Con}(\mathcal{A})$  the assertions  $a(\theta \circ \phi)b$  and  $a(\phi \circ \theta)b$  are equivalent.  $\mathcal{A}$  is called (a, b)-regular if for all  $\theta, \phi \in \text{Con}(\mathcal{A}), [a]\theta = [a]\phi$  implies  $[b]\theta = [b]\phi$ .  $\mathcal{A}$  is called (a, b)-uniform if  $|[a]\theta| = |[b]\theta|$  for all  $\theta \in \text{Con}(\mathcal{A})$ .

Remark 1 The following properties follow directly from Definition 2:

- $\mathcal{A}$  is (a, b)-permutable if and only if  $\mathcal{A}$  is (b, a)-permutable.
- $\mathcal{A}$  is permutable if and only if it is (c, d)-permutable for all  $c, d \in A$ .
- $\mathcal{A}$  is regular if and only if it is (c, d)-regular for all  $c, d \in \mathcal{A}$ .
- $\mathcal{A}$  is (a, b)-uniform if and only if  $\mathcal{A}$  is (b, a)-uniform.
- $\mathcal{A}$  is uniform if and only if it is (c, d)-uniform for all  $c, d \in \mathcal{A}$ .

**Theorem 1** (i) If there exists an  $f \in C_1$  with f(b) = a and f(a) = b then  $\mathcal{A}$  is (a, b)-permutable.

(ii) If there exist  $f, g \in C_1$  with f(b) = a and g(f(x)) = x for all  $x \in A$  then  $\mathcal{A}$  is (a, b)-regular.

(iii) If there exist  $f, g \in C_1$  such that f(b) = a and f(g(x)) = g(f(x)) = x for all  $x \in A$  then  $\mathcal{A}$  is (a, b)-uniform.

**Proof** Let  $\theta, \phi \in \text{Con}(\mathcal{A})$ .

(i) If  $a(\theta \circ \phi)b$  then there exists an element  $c \in A$  with  $a\theta c\phi b$  and hence  $a = f(b)\phi f(c)\theta f(a) = b$  showing  $a(\phi \circ \theta)b$ , i.e.  $a(\theta \circ \phi)b$  implies  $a(\phi \circ \theta)b$ . The converse implication follows by symmetry.

(ii) Assume  $[a]\theta = [a]\phi$ . If  $c \in [b]\theta$  then  $f(c) \in [f(b)]\theta = [a]\theta = [a]\phi$  and hence  $c = g(f(c)) \in [g(a)]\phi = [g(f(b))]\phi = [b]\phi$  showing  $[b]\theta \subseteq [b]\phi$ . The converse inclusion follows by symmetry.

(iii) If  $c \in [a]\theta$  then  $g(c) \in [g(a)]\theta = [g(f(b))]\theta = [b]\theta$ . If  $d \in [b]\theta$  then  $f(d) \in [f(b)]\theta = [a]\theta$ . Moreover, f(g(x)) = g(f(x)) = x for all  $x \in A$ . Hence  $g|_{[a]\theta}$  and  $f|_{[b]\theta}$  are mutually inverse bijections between  $[a]\theta$  and  $[b]\theta$  proving  $|[a]\theta| = |[b]\theta|$ .

**Example 1** An implication algebra (cf. [1]) is a groupoid  $(A, \cdot)$  satisfying the identities

$$(xy)x = x$$
,  $(xy)y = (yx)x$ ,  $x(yz) = y(xz)$ .

This implies xx = yy, i.e. xx is a constant denoted by 1 (if  $A \neq \emptyset$  which we will assume). Moreover, 1x = (xx)x = x and x1 = (1x)1 = 1. With the partial order

$$x \leq y$$
 if and only if  $xy = 1$ 

 $(A, \leq)$  is a  $\vee$ -semilattice with  $x \vee y = (xy)y$  in which every interval [c, 1] is a Boolean algebra. The element xy coincides with the complement of  $x \vee y$  in the interval [y, 1].

An implication algebra is (a, b)-permutable if and only if a and b have a common lower bound, i.e. if and only if there exists an interval [c, 1] with  $a, b \in [c, 1]$ : Firstly suppose that such an element c exists. Let  $+_c$  denote the symmetric difference in [c, 1].  $+_c$  can be represented as a polynomial function and thus  $x +_c y$ makes sense for all  $x, y \in A$  and is in  $C_2$ . Consequently  $f(x) = x +_c (a +_c b)$  is in  $C_1$  and obviously satisfies condition (i) of Theorem 1.

On the other hand, suppose a and b do not have a common lower bound. Let  $\theta$  and  $\phi$  be the principal congruences generated by (a, 1) and (b, 1), respectively. It can be verified easily that  $(x, y) \in \theta$  if and only if  $x \wedge y$  exists in A and  $1 +_{x \wedge y} (x +_{x \wedge y} y) \ge a \lor (x \land y)$ . Similarly  $\phi$  can be characterized.

Obviously  $(a,b) \in \theta \circ \phi$ . Assume  $(a,b) \in \phi \circ \theta$ , i.e. there is  $d \in A$  such that  $(a,d) \in \phi$  and  $(d,b) \in \theta$ .  $(a,d) \in \phi$  implies  $(a, a \lor d) \in \phi$  which means  $1 +_a (a +_a (a \lor d)) \ge b \lor a$  by the above characterization of  $\phi$ . This implies  $a \lor d \le 1 +_a (a \lor b)$  and hence  $(a \lor b) \land (a \lor d) = a$ .  $(d,b) \in \theta$  implies the existence of  $b \land d$  and we infer  $a \lor (b \land d) \le (a \lor b) \land (a \lor d) = a$ , hence  $b \land d \le a$ . This is a contradiction to the assumption that a and b do not have a common lower bound.

One might suspect that (a, b)-regularity and (a, b)-uniformity can be characterized by the same condition as (a, b)-permutability. This is not the case: We consider the implication algebra  $\mathcal{A}$  with  $A = \{1, a, b, c, d\}$  consisting of the two Boolean subalgebras  $\{1, a, b, c\}$  with  $c \leq a, b \leq 1$  and  $\{1, d\}$ .

One can check easily that  $\theta = \{a, c\}^2 \cup \{1, b, d\}^2$  and  $\phi = \{a, c\}^2 \cup \{1, b\}^2 \cup \{d\}^2$  are congruences of  $\mathcal{A}$ . We have  $c = a \wedge b$ ,  $[a]\theta = [a]\phi$  but  $[b]\theta \neq [b]\phi$ , thus  $\mathcal{A}$  is not (a, b)-regular. Moreover,  $|[a]\theta| = 2$  and  $|[b]\theta| = 3$ , hence  $\mathcal{A}$  is not (a, b)-uniform.

**Example 2** Let  $\mathcal{A}$  denote the algebra  $(A, s_1, s_2)$  with  $A = \{a, b, c, d\}$  and unary operations  $s_1, s_2$  defined as follows:

$$\begin{array}{c}
a & b & c & d \\
\hline
s_1 & d & c & c & d \\
s_2 & b & a & d & c
\end{array}$$

 $\mathcal{A}$  has exactly 3 non-trivial congruences, namely

$$\begin{split} \theta &= \{a\}^2 \cup \{b\}^2 \cup \{c,d\}^2, \\ \phi &= \{a,d\}^2 \cup \{b,c\}^2 \text{ and } \\ \psi &= \{a,b\}^2 \cup \{c,d\}^2. \end{split}$$

It follows

$$\begin{array}{l} \theta \circ \phi \,=\, \theta \cup \phi \cup \{(c,a),(d,b)\},\\ \phi \circ \theta \,=\, \theta \cup \phi \cup \{(a,c),(b,d)\},\\ \theta \circ \psi \,=\, \psi \circ \theta = \psi,\\ \phi \circ \psi \,=\, \psi \circ \phi = A^2. \end{array}$$

 $\mathcal{A}$  is (c, d)-permutable: For  $f := s_1 \circ s_2$  it holds f(c) = d and f(d) = c. Since  $(b, d) \in (\phi \circ \theta) \setminus (\theta \circ \phi)$ ,  $\mathcal{A}$  is not (b, d)-permutable.

 $\mathcal{A}$  is (a, b)-regular: For  $f = g := s_2$  it holds f(b) = a and g(f(x)) = x for all  $x \in A$ . Since  $[a]\theta = [a]\omega$  (where  $\omega$  denotes the least congruence on  $\mathcal{A}$ ) and  $[d]\theta \neq [d]\omega, \mathcal{A}$  is not (a, d)-regular.

 $\mathcal{A}$  is (a, b)-uniform: In fact, for  $f = g := s_2$  it holds f(b) = a and f(g(x)) = g(f(x)) = x for all  $x \in A$ . Since  $|[a]\theta| \neq |[d]\theta|$ ,  $\mathcal{A}$  is not (a, d)-uniform.

**Corollary 1** (i) If there exists  $f \in C_{32}$  with f(x, x, y) = f(y, x, x) = y for all  $x, y \in A$  then A is permutable.

(ii) If there exist  $f, g \in C_{32}$  with f(x, x, y) = y and g(x, f(x, y, z), z) = y for all  $x, y, z \in A$  then  $\mathcal{A}$  is regular.

(iii) If there exist  $f, g \in C_{32}$  with f(x, x, y) = y and f(x, g(x, y, z), z) = g(x, f(x, y, z), z) = y for all  $x, y, z \in A$  then  $\mathcal{A}$  is uniform.

**Proof** (i) Put  $f_{cd}(x) := f(c, x, d)$  for all  $c, d, x \in A$ . Then  $f_{cd} \in C_1$ ,  $f_{cd}(c) = d$  and  $f_{cd}(d) = c$  for all  $c, d \in A$ . According to Theorem 1,  $\mathcal{A}$  is (c, d)-permutable for all  $c, d \in A$  and hence permutable.

(ii) Put  $f_{cd}(x) := f(d, x, c)$  and  $g_{cd}(x) := g(d, x, c)$  for all  $c, d, x \in A$ . Then  $f_{cd}, g_{cd} \in C_1, f_{cd}(d) = c$  and  $g_{cd}(f_{cd}(x)) = g(d, f(d, x, c), c) = x$  for all  $c, d, x \in A$ . Hence  $\mathcal{A}$  is (c, d)-regular for all  $c, d \in A$  according to Theorem 1 and therefore regular.

(iii) With the same notation as in the proof of (ii) we now have  $f_{cd}(d) = c$ ,  $f_{cd}(g_{cd}(x)) = f(d, g(d, x, c), c) = x$  and  $g_{cd}(f_{cd}(x)) = g(d, s(d, x, c), c) = x$  for all  $c, d, x \in A$ . By Theorem 1  $\mathcal{A}$  is (c, d)-uniform for all  $c, d \in A$  and hence uniform.  $\Box$ 

**Example 3** Let  $\mathcal{L} = (L, \lor, \land, ', 0, 1)$  be an orthomodular lattice. For  $x, y \in L$  we define

$$x + y := (x \lor (y \land x')) \land (x' \lor y').$$

Then it can be proved with standard methods:

$$x + 0 = 0 + x = x$$
,  $x + x = 0$ ,  $(x + y) + y = x$ .

Let f(x, y, z) := (x+y)+z, then we have f(x, x, y) = (x+x)+y = 0+y = y and f(y, x, x) = (y+x)+x = y. Therefore  $\mathcal{L}$  is permutable according to Corollary 1.

Now let f(x, y, z) := (y + x) + z and g(x, y, z) := (y + z) + x. Then we have for all  $x, y, z \in L$ :

$$\begin{split} f(x,x,y) &= (x+x) + y = 0 + y = y, \\ f(x,g(x,y,z),z) &= (((y+z)+x)+x) + z = (y+z) + z = y, \\ g(x,f(x,y,z),z) &= (((y+x)+z)+z) + x = (y+x) + x = y. \end{split}$$

By Corollary 1  $\mathcal{L}$  is both regular and uniform.

In the following let 0 be a fixed element of A. Recall that  $\mathcal{A}$  is called

- permutable at 0 (cf. [2], [4], [6]) if  $[0](\theta \circ \phi) = [0](\phi \circ \theta)$  for all  $\theta, \phi \in \text{Con}(\mathcal{A})$ ,
- weakly regular, (cf. [4], [5], [7]) if  $\theta, \phi \in \text{Con}(\mathcal{A})$  and  $[0]\theta = [0]\phi$  imply  $\theta = \phi$ ,
- locally regular (cf. [3], [4]) if  $a \in A$ ,  $\theta, \phi \in \text{Con}(\mathcal{A})$  and  $[a]\theta = [a]\phi$  imply  $[0]\theta = [0]\phi$ .

**Corollary 2** (i) If there exists  $f \in C_{22}$  with f(x,0) = x and f(x,x) = 0 for all  $x \in A$  then  $\mathcal{A}$  is permutable at 0.

(ii) If there exist  $f, g \in C_{22}$  with f(x, x) = 0 and g(x, f(x, y)) = y for all  $x, y \in A$  then  $\mathcal{A}$  is weakly regular.

(iii) If there exist  $f, g \in C_{22}$  with f(x, 0) = x and g(x, f(x, y)) = y for all  $x, y \in A$  then A is locally regular.

**Proof** It is easy to see that  $\mathcal{A}$  is permutable at 0 if and only if  $\mathcal{A}$  is (c, 0)-permutable for all  $c \in A$ , that  $\mathcal{A}$  is weakly regular if and only if  $\mathcal{A}$  is (0, c)-regular for all  $c \in A$  and that  $\mathcal{A}$  is locally regular if and only if  $\mathcal{A}$  is (c, 0)-regular for all  $c \in A$ . Applying Theorem 1 to  $f_c(x) := f(c, x)$  and  $g_c(x) := g(c, x)$  the assertions follow immediately.  $\Box$ 

**Definition 3**  $\mathcal{A}$  is called (a, b)-semiuniform if  $|[a]\theta| \leq |[b]\theta|$  for all  $\theta \in \text{Con}(\mathcal{A})$ .  $\mathcal{A}$  is called 0-semiuniform if  $\mathcal{A}$  is (c, 0)-semiuniform for all  $c \in \mathcal{A}$ .

**Theorem 2** (i) If there exist  $f, g \in C_1$  with f(a) = b and g(f(x)) = x for all  $x \in A$  then  $\mathcal{A}$  is (a, b)-semiuniform.

(ii) If there exist  $f, g \in C_{22}$  with f(x, x) = 0 and g(x, f(x, y)) = y for all  $x, y \in A$  then  $\mathcal{A}$  is 0-semiuniform.

**Proof** (i) Let  $\theta \in \text{Con}(\mathcal{A})$ . If  $c \in [a]\theta$  then  $f(c) \in [f(a)]\theta = [b]\theta$ . If  $d, e \in [a]\theta$  and f(d) = f(e) then d = g(f(d)) = g(f(e)) = e. Hence  $f|_{[a]\theta}$  is an injective mapping from  $[a]\theta$  to  $[b]\theta$  proving  $|[a]\theta| \leq |[b]\theta|$ .

(ii) Put  $f_c(x) := f(c, x)$  and  $g_c(x) := g(c, x)$  for all  $c, x \in A$ . Then  $f_c, g_c \in C_1$ ,  $f_c(c) = 0$  and  $g_c(f_c(x)) = x$  for all  $c, x \in A$ . According to (i)  $\mathcal{A}$  is (c, 0)-uniform for all  $c \in A$ , i.e.  $\mathcal{A}$  is 0-semiuniform.

**Example 4** Every finite relatively pseudocomplemented lattice  $\mathcal{L} = (L, \lor, \land, \ast, 0, 1)$  is 1-semiuniform: Let  $\theta \in \text{Con}(\mathcal{L})$ . Since L is finite the class  $[c]\theta$  contains the greatest element  $\bar{c}$ . Consider the function  $\varphi_c(x) := \bar{c} \ast x$ . For  $x \in [c]\theta$  we have  $\bar{c} \ast x \theta \bar{c} \ast \bar{c} = 1$ , i.e.  $\varphi_c(x) \in [1]\theta$ . Suppose  $x, y \in [c]\theta$  and  $\varphi_c(x) = \varphi_c(y)$ . Then

$$x = \bar{c} \wedge (\bar{c} * x) = \bar{c} \wedge \varphi_c(x) = \bar{c} \wedge \varphi_c(y) = \bar{c} \wedge (\bar{c} * y) = y.$$

This shows that  $\varphi_c$  is an injection from  $[c]\theta$  into  $[1]\theta$ , i.e.  $\mathcal{L}$  is (c, 1)-semiuniform for all  $c \in L$ .

**Example 5** Every finite implication algebra  $\mathcal{A} = (A, \cdot)$  is 1-semiuniform: Let  $\theta \in \operatorname{Con}(\mathcal{A})$  and  $c \in A$ . Since A is finite, the class  $[c]\theta$  has a greatest element  $\bar{c}$ . We consider  $\varphi_c(x) := \bar{c}x$ . Then for  $x \in [c]\theta$  we have

$$(\bar{c}x)\theta\bar{c}\bar{c}=1,$$

hence  $\varphi_c(x) \in [1]\theta$ . Suppose  $\varphi_c(x) = \varphi_c(y)$  for  $x, y \in [c]\theta$ . We prove  $\bar{c}x \wedge \bar{c} = x$ : Since  $x \in [c]\theta$  we have  $x \leq \bar{c}$  and  $x(\bar{c}x) = \bar{c}(xx) = 1$  implies  $x \leq \bar{c}x$ . Now suppose  $z \leq \bar{c}x$  and  $z \leq \bar{c}$ , i.e.  $z(\bar{c}x) = 1$  and  $z\bar{c} = 1$ . We have to show that  $z \leq x$ :

$$zx = (z(\bar{c}x))(zx) = (\bar{c}(zx))(zx) = ((zx)\bar{c})\bar{c} = ((zx)((z\bar{c})\bar{c}))\bar{c}$$
$$= ((zx)((\bar{c}z)z))\bar{c} = ((\bar{c}z)((zx)z))\bar{c} = ((\bar{c}z)z)\bar{c} = ((z\bar{c})\bar{c})\bar{c} = \bar{c}\bar{c} = 1.$$

This proves  $\bar{c}x \wedge \bar{c} = x$  and analogously we obtain  $\bar{c}y \wedge \bar{c} = y$ , thus we infer

$$x = (\bar{c}x) \wedge \bar{c} = (\bar{c}y) \wedge \bar{c} = y.$$

Consequently  $\varphi_c$  is an injection of  $[c]\theta$  into  $[1]\theta$ , whence  $|[c]\theta| \leq |[1]\theta|$ . Thus  $\mathcal{A}$  is 1-semiuniform.

**Definition 4** Let n > 1.  $\mathcal{A}$  is called n-(a, b)-permutable if  $(a, b) \in \theta \circ \phi \circ \theta \circ \ldots$ (*n* factors) is equivalent to  $(a, b) \in \phi \circ \theta \circ \phi \circ \ldots$  (*n* factors) for all  $\theta, \phi \in \text{Con}(\mathcal{A})$ .

**Theorem 3** (i) If there exist functions  $f_1 \in C_{31} \cap C_{33}$  and  $f_2 \in C_{32} \cap C_{33}$ satisfying

$$f_1(a, x, x) = a, \ f_1(x, x, b) = f_2(x, b, b), \ f_2(x, x, b) = b,$$

for all  $x \in A$  then  $\mathcal{A}$  is 3-(a, b)-permutable. (ii) If there exists  $f \in C_4$  satisfying

$$f(x, x, x, a) = a, f(x, x, x, b) = b, f(x, x, b, b) = f(b, x, b, x)$$

for all  $x \in A$  then  $\mathcal{A}$  is 3-(a, b)-permutable.

**Proof** (i) Let  $\theta, \phi \in \text{Con}(\mathcal{A})$  and  $(a, b) \in \theta \circ \phi \circ \theta$ . Then there are elements  $c, d \in A$  with  $a\theta c\phi d\theta b$ . We infer

$$a = f_1(a, c, c)\phi f_1(a, c, d)\theta f_1(c, c, b) = f_2(c, b, b)\theta f_2(c, d, b)\phi f_2(c, c, b) = b,$$

whence  $(a, b) \in \phi \circ \theta \circ \phi$ .

(ii) Put  $f_1(x, y, z) := f(z, y, z, x)$  and  $f_2(x, y, z) := f(x, x, y, z)$ . Then  $f_1, f_2$  satisfy the conditions in (i).

**Definition 5**  $\mathcal{A}$  is called *n*-modular (for  $n \geq 2$ ) if for every  $\theta, \phi, \psi \in \text{Con}(\mathcal{A})$  with  $\theta \subseteq \psi$  we have

$$\underbrace{(\underbrace{\theta \circ \phi \circ \theta \circ \dots}_{n \text{ factors}}) \cap \psi \subseteq \theta \lor (\phi \cap \psi).$$

We remark that congruence modularity is equivalent to the condition  $\theta \subseteq \psi$ implies  $(\theta \lor \phi) \cap \psi \subseteq \theta \lor (\phi \cap \psi)$ . Thus our concept of *n*-modularity is weaker than congruence modularity. Obviously (n + 1)-modularity implies *n*-modularity.

**Theorem 4** Every algebra  $\mathcal{A}$  is 3-modular (and hence 2-modular).

**Proof** Suppose  $\theta, \phi, \psi \in \text{Con}(\mathcal{A})$  with  $\theta \subseteq \psi$  and  $(c, d) \in (\theta \circ \phi \circ \theta) \cap \psi$ . Then there exist  $e, f \in \mathcal{A}$  with  $c\theta e\phi f\theta d$  and we obtain  $e\psi c\psi d\psi f$  and hence  $c\theta e(\phi \cap \psi)f\theta d$ .  $\Box$ 

**Example 6** Let  $\mathcal{A} = (A, s_1, s_2, s_3)$  be an algebra with 3 unary operations and  $A = \{a, b, \dots, g\}$  with

$$\begin{array}{c} a \ b \ c \ d \ e \ f \ g \\ \hline s_1 \ c \ d \ e \ e \ e \ e \ d \\ s_2 \ e \ e \ e \ f \ g \ g \ f \\ s_3 \ d \ c \ b \ a \ a \ b \ c \end{array}$$

Then  $\operatorname{Con}(\mathcal{A}) \cong \operatorname{N}_5$  since  $\operatorname{Con}(\mathcal{A})$  consists of the trivial congruences and

$$\begin{array}{l} \theta \ = \ \{a,b\}^2 \cup \{c,d\}^2 \cup \{e,f\}^2 \cup \{g\}^2, \\ \phi \ = \ \{a\}^2 \cup \{b,c\}^2 \cup \{d,e\}^2 \cup \{f,g\}^2, \\ \psi \ = \ \{a,b,g\}^2 \cup \{c,d\}^2 \cup \{e,f\}^2, \end{array}$$

with  $\theta \subseteq \psi$ . Hence  $\operatorname{Con}(\mathcal{A})$  is not modular.

However,  $\operatorname{Con}(\mathcal{A})$  is 4-modular: The only non-trivial case to be checked refers to the triple  $(\theta, \phi, \psi)$  and we have

$$(\theta \circ \phi \circ \theta \circ \phi) \cap \psi = \theta \subseteq \theta \lor (\phi \cap \psi).$$

We remark that  $\theta \circ \phi \circ \theta \circ \phi$  is not a congruence since  $(a, e) \in \theta \circ \phi \circ \theta \circ \phi$  while  $(e, a) \notin \theta \circ \phi \circ \theta \circ \phi$ .

**Definition 6**  $\mathcal{A}$  is called (a, b)-modular if for all  $\theta, \phi, \psi \in \text{Con}(\mathcal{A})$  with  $\theta \subseteq \psi$  we have  $(a, b) \in (\theta \lor \phi) \cap \psi$  implies  $(a, b) \in \theta \lor (\phi \cap \psi)$ .

**Remark 2** Of course, if for all  $\theta, \phi \in \text{Con}(\mathcal{A})$  it is true that

$$(a,b) \in \theta \lor \phi \text{ implies } (a,b) \in \theta \circ \phi \circ \theta \tag{1}$$

or

$$(a,b) \in \theta \lor \phi \text{ implies } (a,b) \in \theta \circ \phi \tag{2}$$

then, by Theorem 4,  $\mathcal{A}$  is (a, b)-modular. Hence it is a natural to search for algebras satisfying the implications (1) or (2). Obviously (2) implies (a, b)-permutability and (1) implies 3-(a, b)-permutability. We are going to find sufficient conditions for (1) or (2).

**Proposition 1** Let R be a reflexive and compatible relation on A.

(i) If there exists an R-compatible unary function  $f : A \to A$  such that f(a) = b and f(b) = a then  $(a, b) \in R$  implies  $(a, b) \in R^{-1}$ .

(ii) If there exist a function  $f : A^3 \to A$  compatible with R with respect to the first and third component such that f(a, x, x) = a and f(x, x, b) = b for all  $x \in A$  then  $(a, b) \in R \circ R$  implies  $(a, b) \in R$ .

**Proof** (i) If  $(a, b) \in R$  then  $(b, a) = (f(a), f(b)) \in R$  due to the compatibility of f with R.

(ii) Let  $(a, b) \in R \circ R$ . Then aRcRb for some  $c \in A$  and thus a = f(a, c, c)R f(c, c, b) = b.

For a binary relation R on A put  $[a]R = \{x \in A \mid xRa\}$ .

**Definition 7**  $\mathcal{A}$  is *n*-permutable at a (n > 1) if for all  $\theta, \phi \in \text{Con}(\mathcal{A})$ 

$$[a](\theta \circ \phi \circ \ldots) = [a](\phi \circ \theta \circ \ldots)$$

(with n factors on both sides).

**Theorem 5** Let  $\mathcal{A}$  be n-permutable at a. Then for all  $\theta, \phi \in \text{Con}(\mathcal{A})$  we have  $(a, c) \in \theta \lor \phi$  if and only if  $(a, c) \in \theta \circ \phi \circ \ldots$  (n factors).

**Proof** Evidently,  $(a, c) \in \theta \circ \phi \circ \ldots$  implies  $(a, c) \in \theta \lor \phi$ . Now, let  $(a, c) \in \theta \lor \phi$ . Then there exists an integer m such that  $(a, b) \in \theta \circ \phi \circ \ldots$  (m factors). If  $m \le n$  we are done. We proof the assertion for m = n + 1 and n even, the general proof works with the same idea. There exists an element  $d \in A$  such that

$$a(\underbrace{\theta \circ \phi \circ \ldots \circ \phi}_{n \text{ factors}}) d\theta c.$$

Hence  $d \in [a](\phi \circ \theta \circ \ldots \circ \theta)$  (*n* factors). Due to *n*-permutability at *a* we have  $d \in [a](\theta \circ \phi \circ \ldots \circ \phi)$  (*n* factors), i.e.

$$a(\underbrace{\phi \circ \theta \circ \ldots \circ \theta}_{n \text{ factors}}) d\theta c,$$

hence

$$a(\underbrace{\phi \circ \theta \circ \ldots \circ \theta}_{n \text{ factors}})c,$$

and again by *n*-permutability at *a* we arrive at  $(a, c) \in \theta \circ \phi \circ \ldots \circ \phi$  (*n* factors).

**Corollary 3** If  $\mathcal{A}$  is 3-permutable at a then  $\mathcal{A}$  is (a, c)-modular for all  $c \in A$ .

**Proof** Let  $\theta, \phi, \psi \in \text{Con}(\mathcal{A})$  with  $\theta \subseteq \psi$  and  $(a, c) \in (\theta \lor \phi) \cap \psi$ . Then due to 3-permutability at a by Theorem 5 we have  $(a, c) \in \theta \circ \phi \circ \theta$ , i.e. there are  $d, e \in \mathcal{A}$  with  $a\theta d\phi e\theta c$ . Consequently we obtain  $d\psi a\psi c\psi e$  and  $a\theta d(\phi \cap \psi)e\theta c$ . Thus  $(a, c) \in \theta \lor (\phi \cap \psi)$  and we are done.

### References

- [1] Abbott, J. C.: Semi-boolean algebra. Mat. Vesnik 4 (1967), 177-198.
- [2] Chajda, I.: A localization of some congruence conditions in varieties with nullary operations. Annales Univ. Sci. Budapest 30 (1987), 17–23.
- [3] Chajda, I.: Locally regular varieties. Acta Sci. Math. (Szeged) 64 (1998), 431-435.
- [4] Chajda, I., Eigenthaler, G., Länger, H.: Congruence Classes in Universal Algebra. Research and Exposition in Mathematics, Vol. 26, Heldermann Verlag, Lemgo, 2003.
- [5] Csákány, B.: Characterizations of regular varieties. Acta Sci. Math. (Szeged) 31 (1970), 187–189.
- [6] Duda, J.: Arithmeticity at 0. Czechoslovak Math. J. 37 (1987), 197–206.
- [7] Fichtner, K.: Eine Bemerkung über Mannigfaltigkeiten universeller Algebren mit Idealen. Monatsber. DAW 12 (1970), 21–25.
- [8] Kalmbach, G.: Orthomodular Lattices. Academic Press, London-New York, 1983.
- Maltsev, A. I.: On the general theory of algebraic systems. Mat. Sbornik 35 (1954), 3–20 (in Russian).